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(A) 4
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) -4
D) o
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General Instructions :
Read the following instructions very carefully and strictly follow them :

(1) This question paper comprises four sections — A, B, C and D. This question
paper carries 40 questions. All questions are compulsory.

(i1) Section A : Question Numbers 1 to 20 comprises of 20 questions of one mark
each.

(itt) Section B : Question Numbers 21 to 26 comprises of 6 questions of two marks
each.

(iv) Section C : Question Numbers 27 to 34 comprises of 8 questions of three
marks each.

(v)  Section D : Question Numbers 35 to 40 comprises of 6 questions of four marks
each.

(vt)  There is no overall choice in the question paper. However, an internal choice
has been provided in 2 questions of one mark, 2 questions of two marks,
3 questions of three marks and 3 questions of four marks. You have to attempt
only one of the choices in such questions.

(vit) In addition to this, separate instructions are given with each section and
question, wherever necessary.

(viit) Use of calculators is not permitted.

SECTION A

Question numbers 1 to 20 carry 1 mark each.
Question numbers 1 to 10 are multiple choice questions.

Choose the correct option.

1. The value(s) of k for which the quadratic equation 2x2 + kx + 2 = 0 has
equal roots, is

(A) 4
(B) z*4
Cc) -4
(D) o0

[.30/5/2 1 3 P.T.O.
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2. f=fafes @ 9 - gua 9 757 2 2

(A) -12,08,28, ..

(B)  3,3+42,3+242,3+342, ...

4 7 9 12
(C) o’ a’o’ o
33 3 3
-1 -2 -3
D ——=,—, ..
) 5 5 5

3.  3MP-1, O %5 acd g0 W oral foig P A g1 ei@d pQ o PR @li=h 78
7 | ga hl s 4 5 7 | I £ QPR = 90° 7, A1 PQ i @aTg B8R
(A)
(B)
(©)
(D)

-1

4. %@ﬁf (m, — n) dAT (— m, 11)%@?@@%

(A) m?2 +n?2

(B) m+n

(C) 2\}1]12 +n2
(D) \}21112 +9n2
E .30/5/2 i 4
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2. Which of the following is not an A.P. ?
(A) -12,08,28, ...
(B) 3,3++42,3+2v2,3+342, ...

4 7 9 12
(C) PR R R e
3 3 3
-1 -2 -8
D ——,—, ..
(D) 5 5 5
3. In Figure-1, from an external point P, two tangents PQ and PR are
drawn to a circle of radius 4 ecm with centre O. If £ QPR = 90°, then
length of PQ is
(A) 8cm
(B) 4cem
(C) 2cm
(D) 242 em

Figure-1
4. The distance between the points (m, —n) and (- m, n) is
(A) m?2 +n?2

(B) m+n

(C) 2\/1]12 +n2
(D) 1}21112 +9n2

[.30/5/2 1 5 P.T.O.
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5.  UH wg9q Sk I hacl — 3 YT 48, 1 910 7

(A) 2
B) 1
(C) 389 AT
(D) 38

6.  IH-2H, ABC U THigag Toehivn Brys 8 e wwshior C W 2 | 31
(A) AB2 =2AC2
(B) BC2=2AB2
(C) AC2 =2AB2

(D) ABZ2=4AC2
B

-
C

H A
STPIa-2
7. x-31& W fed 98 fag S (- 4, 0) TAT (10, 0) § HAGEY B, g &
A (7,0)
B)  (5,0)
©) (0,0)
(D) (3,0)
rera
T I g o e, s Tk =@ % 3 g (- 6, 3) 3 (6, 4) &, &
A (8,-1)
B 4,7
7
o (3
7
o (b3

[.30/52 1 6
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5. The degree of polynomial having zeroes — 3 and 4 only is
(A) 2
B 1
(C) more than 3
(D) 8

6. In Figure-2, ABC is an isosceles triangle, right-angled at C. Therefore
(A)  AB2=2AC2
(B) BC2=2AB2
(C) AC2?=2AB2
(D) ABZ=4AC?2

Figure-2
7. The point on the x-axis which is equidistant from (- 4, 0) and (10, 0) is
A (7,0)
(B) (5,0)
C) (0,0)
D) (3,0)
OR
The centre of a circle whose end points of a diameter are (- 6, 3) and (6, 4)
18
A (8,-1)
B 4,7
7
C 0, —
(©) [ 2)
7
D 4, —
D) [ 2]

[.30/5/2 1 7 P.T.O.
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+ =
8. fge wefiemwon %X+‘:’3—y=7 qUT 9x + 10y = 14 %1 I|

(A) a2

(B) 37ETd 2

(C) Ed @ a1 Tk T B @
(D) T § Q91 3 B 8

9. -3 H, O %3 I g0 W, g B W wmid@n pQ € ® 7 | AR
£ AOB =100° 8, a1 £ ABP SR 8

(A)  50°

(B)  40°

(C)  60°

(D)  80°

3THIdT-3
10.  12n %A 9l aE arct et FY B (@ F) 2

(A) 3

B) 343

(©) 32/3

(D) 31/3

[.30/52 1 8
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8. The pair of inear equations
3_x+5?y=7 and 9x + 10y = 14 is

2
(A) consistent
(B) inconsistent
(C)  consistent with one solution

(D)  consistent with many solutions

9. In Figure-3, PQ is tangent to the circle with centre at O, at the point B. If
£ AOB = 100°, then £ ABP is equal to

(A) 50°
(B)  40°
(C) 60°
(D) 80°

Figure-3
10. The radius of a sphere (in cm) whose volume is 12=n cm?, is
(A) 8
(B) 3438
©) 32/3
(D) 31/3

[.30/5/2 1 9 P.T.O.
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Jo7 AT 11 & 15 7 Rwp €97 9RT |

11. AOBC U% 3d & faes o fid-feg A0, - 3), 00, 0) W& B(4, 0) 7 | 38%
ferapot 61 e 2 |

Tl - >
12, HF E=a+[#}xh 1‘-sf,ui= i

i

13, @l T I WER M # |

14. U fifvad =ed arelt wen i wiheear B B |
15. GTATH 9 H (1 — cos2 A) (1 + cot2 A) = 21
J97 &IT 16 & 20 7 [Hefeifad & w7 5w |

16. T HEI3 &1 @.49. (LCM) 182 3 91 39! 7.9, (HCF) 13 2 | Ife uwsh g&m

26 7, dl ga{ &A1 H1d I |

17. U fgurd sg9e F1d T e el 1 A6 a1 PESSA HA: (- 3)
AT 2E |

AT

HTAZ W9 2 o6 989G x* - 3x2 + 5x — 9 B (x2 + 3) ¥ fawifod 1 W
ATHSA (x2 - 1) 8 ? I I H FHROT G |

18.  T¥H 100 Yhd TEATS T NTHS T HIfTT |
19. M Hd T

2 sec 30° x tan 60°

[.30/52 1 10
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Fill in the blanks in question numbers 11 to 15.

11.

12,

13.

14.

15.

AOBC 1is a rectangle whose three vertices are A(0, —3), O(0, 0) and
B(4, 0). The length of its diagonal is

_ >fu.
In the formula x = a+ # xh, u;=
i

All concentric circles are to each other.
The probability of an event that is sure to happen, is

Simplest form of (1 — cosZ A) (1 + cot2 A)is

Answer the following question numbers 16 to 20.

16.

17.

18.

19.

The LCM of two numbers is 182 and their HCF is 18. If one of the

numbers is 26, find the other.

Form a quadratic polynomial, the sum and product of whose zeroes are

(- 3) and 2 respectively.
OR

Can (x2 — 1) be a remainder while dividing x4 - 8x24+5x-9 by (x2 +8)7?

Justify your answer with reasons.

Find the sum of the first 100 natural numbers.

Evaluate :

2 sec 30° x tan 60°

[.30/5/2 1 11 P.T.O.



20. 3THid-4 H, YH % TH fag C |, S HR % ure-foig & 30 M. ¢ B, T #HW
% f¥MER 1 3T HI7 30° B | HHR H S=18 71 iy |

A

Qus @

J97 GEIT 21 G 26 TF Jeddb G972 3FI HT & |

21. Tr=fafad sz 1 sgersh 1 Hif

ITeTeh 0-10|10-20 | 20-30 | 30-40 | 40 - 50 | 50 — 60

BEI h TE&T 4 6 7 12 5 6

22.  FATH{d-5H, Th g6 & Ui Th =g ABCD i w7 | fag i o
AB + CD = BC + AD.
A

HAUAT
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